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X—-8=11 84 : x =122
X=11+8 X=284:22
X=19 X=4
(19 - 8) - 12 = 132 84:3+5=17
OTtBerT: 1?2° OTtBerT: 2

19 7




9a—a+14 =94 9a—a+14 =94

9a +14 = 94 8a+ 14 = 94
9a=94-14 8a=94-14
9a =90 8a =80
a=90:09 a=80:8
a=10 a=10
9-10+14 =94 8-10+14 =94

OTtBeT: 10 OTBeT: 10




KopREma

(&)
KaoTnac

(¢

HdembsiHOBO '

MuHror

CnoGoackoi
# T e

(i



- J =
e — 2 | — /
'l
'.
=4
!
o "
Vi e
g~ - //
/ I| /.
[eMbsHOBO e
=
CnoBoackoi
o
Kuposo-Yeneux Praeal
[' (
[ ) ns
L [
l 3 I\, ,[ F -4 \ T -A
n" ’-F “l
. \
I = '|/ I
pt - L= i



t(4) v (kM) S (xm)

—_

IICIIIKOM X 4 4x

TPOUKA X R x

) (D11E(S)7 50 kM
HAa MallldiHE X 38 38X

4x + 8x + 38x =50






